HW2_240_SPR25
2025-01-31

1. (Select all that apply) Which of the following is true about this data:
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b. There is more thamome mode—
@Thc median is equal to the mean
5% of the data is within p + 20 & Q:\ \N\Q,C} A4\
e. “The second-quartile-is approximately-equal-te-theTmode

f. The median-is greater-than-the mean
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2. What percentage of observations in a distribution lie between the fi
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3. To make a boxplot of a distribution, you must know:
a. all the individual observations
b. the mean and the standard deviation

¢.\the five-number summary

4. What are all the values that a standard deviation s can possibly take?
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5. Which of the following is least affected if an extreme high outlier is added to your data?
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of the 21 spiders. Here are the data:
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6. Give ()
e
,k&_ : five nllmbcr summary and the mean for this data. How do the mean and the median compare?
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In the carly 1980s, Canadian gray wolves began colonizing the northwcstom portion of Montana
and by 1987, there were an estimated 10 gray wolves in Montana. With the increase in wolf num-
bers in the western U.S., there has been a corresponding increase in cattle and sheep depredation
duc to wolves. Below is tracking data from the years 1987-1991 regarding these wolf populations
as well as wolf, cattle, and sheep depredation.
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8. Make a time plot for the wolf population year over year (1987-1991). Draw a line across the plot for
the mean wolf population.
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N 9. Make a scatterplot to observe the relationship between Cattle Deprec lated and Wolf Population. How
would you describe this relationship? o ¢
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10. Calculate the range and standard deviation for both groups. How ~do they compare?
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11 Pl:);t %:Z boxplot for the non-scKizophrenics. What conclusions can be drawn from comparing your plot
with the plot for the schizophrenics?
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